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1. RORZHNBOMREX. (S5, A14740%, B 24r40%, C#dsy)

(1) 222 4 5z + 2 (2) 322 + 5xy — 2y°

(3) 522 — 17z + 6 (4) 82 — 2wy — 159>
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2. XORXZHRBOMRE L. (S5, AR1540%, B2 40F, C#44y)

(1) 3x2 + 10z + 3 (2) 222 — 9y — 5y?

(3) 322 — 11z + 6 (4) 82 — 27xy — 20y>
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REFRA N EBME TEENT 02 RS

1. RORZHNBOMREX. (S5, A14740%, B 24r40%, C#dsy)

* fcgEHITOAR
acr? + (ad + be)z + bd = (az + b)(cx + d)

CL>< b — be
c d — ad

ad + bc
(1) 222 + 5z + 2 (2) 322 + 5xy — 2y?
1 2 — 4 1 2 — 6
2 >< 1 — 1 3 >< -1 — -1
5 5
HEX=(x+2)(2x+1) LR = (z + 2y)(8z — v)
YWy ZREPI W]
SehitEDr & (R ig D R R BH)
EZRIEH L CHED» O BHEE DT X 9.
(x+2)2z+1)
=1x222+(I1x1+2x2)x+2x1
=222+ 52 +2
(3)  b5z2—-17x+6 (4) 8z —2zy — 1592
1 -3 — -15 2 -3 — -12
5 >< -2 — =2 4 >< 5 — 10
—17 -2
HX = (xz — 3)(5z — 2) 53 = (22 — 3y)(4z + 5y)
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2.

ROAXZRE TR L. (SHhs5 ™, Afk15740%, B2 408, C#457)

(1) 322+10x+3 (2) 222 — 9y — 5y

1 3 — 9 1 -5 — -10
3><1—)1 2><1—>1

5% = (z + 3)(3z + 1) 5 = (z — 5y)(2z + y)

(3) 322 — 11z + 6 (4) 82 — 27xy — 20y>

1 -3 — -9 1 —4 — =32
3><—2—>—2 8><5—>5

—11 —27

5 = (z — 3)(3z — 2) 53 = (z — 4y) (8 + 5y)
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